Shri P. K. Chaudhari Mahila Arts College,

Sector-7, Gandhinagar

Data of Sports Activities and Achievements

2016 - 2017

List of Programmers Hosted by the College

Sr.	Year	Date	Name of Game		
No.					
1	2016-2017		Special Olympics Khel-Maha Khumbh District Competition		
2					
3					
4					

List of Students Participated at All India West Zone Inter University

Sr. No.	Years\	Name of the students	Name of the Game	Place of All India West Zone (Inter Uni.)
1	2016-2017	Chaudhary Ankita M.	Kabaddi	North Guj.Uni Patan
		Panchal Daksha M	Kabaddi	North Guj.Uni.Patan

Achievement at International Level

Sr.	Year	Date	Name of Player	Name of the Game	Place	Rank
No.						
1	2016-	06 to12	Chaudhary Ripal J.	Jeet	Jakarta	Gold
	2017	Octomber		Kune Do	Indonesiya	Medal
		O6 to 12	Taral Khyati B.	Jeet	Jakarta	Gold
		Octomber		Kune Do	Indonesiya	Medal
		06 to 12	Patel Apexa B.	Jeet	Jakarta	Silver
		Octomber		Kune Do	Indonesiya	Medal
		06 to12	Chaudhary Arju D.	Jeet	Jakarta	Silver
		Octomber		Kune Do	Indonesiya	Medal

Achievements in Sports

(1) Achievement at International Level in 2016-17

Ms.Ripal J. Chaudhary, Ms.Khyati B.Taral has awarded Gold Medal and Ms.Apexa B.Pa

B.Patel and Ms. Arju D. Chaudhary Silver Medal In 6th Tafisa Games in" Jeet Kune Do"

Games at Jakarta Indonesiya in 6 to 12 Octomber-2016-17

(2) Gujarat University Ahmedabad Zone Inter College Athletics In-2016-17

In 2016-17, the College Patricipeted in the Gujarat University Ahmedabad Zone

Inter College Competition and 02 – Gold Medals and 05 – Silver Meda

INDOR GAMES

2016-2017

1	Chess	Participeted in the Gujarat University Ahmedabad Zone Inter College
		Competition at Gujarat University Jimneshiyam Hall on 07-09-2016
2	Chess	Participeted in the Arvind bhai Joshi Open District Tournament at Rashtra
		Bhasha College, Ahmedabad on 3,4-09-2016

OUT DOOR GAMES

2016-2017

1	Cross Country	Participeted in the Gujarat University Ahmedabad Zone Inter
-	Cross Country	
		College Competition at Gujarat University Ground on 12-08-
		2016
2	Volley Ball	Participeted in the Gujarat University Ahmedabad Zone Inter
		College Competition at Gujarat University Ground on 30-09-
		2016
3	Cricket	Participeted In Gujarat University Ahmedabad Zone Inter
		College Competition at H.L.Commerce College, Ahmedabad on
		11,12-10-2016
4	Kabaddi	Participeted in the Gujarat University Ahmedabad Inter
		College Competition at M.G,Science College,Ahmedabad on
		26-09-2016. Chaudhary Ankita M. and Panchal Daksha M.
		represented Gujarat University for All India West Zone Inter
		University at North Gujarat University,Patan at 31-01-2017
5	Athleticss	Participeted in Gujarat University Ahmedabad Zone Inter
		College Competition at Gujarat University Ground.(1)
		Chaudhary Bhavana D. – Long Jump,Trippal Jump – Gold
		Medals and 100mt.Run,High Jump – Silver Medals (2)

		Bavaliya Kajal A. – 800mt,1500mt and 3000mt Run Silver Medals.
6	Kabaddi	Champion in Women Open Disrict Level Championship Organised by Saradar Vallabh bhai Patel Championship at Shri P.K.Chaudhary Mahila Arts College,Sector-7,Gandhinagar on 31-07-2016

Shri P. K. Chaudhari Mahila Arts College, Sector-7, Gandhinagar

KHEL MAHA KUMBH

Data of Sporsts Activities and Cash Prizes

2016-2017

Sr.No	NAME OF THE GAME	RANK	PARTICIPATION OF STUDENT	AMOUNT	TOTAL AMOUNT
1	Kabaddi	Zone First	12	700/-	8400/-
2	Kabaddi	District First	12	3000/-	36000/-
3	Tough Of War	Zone First	09	700/-	6300/-
4	Tough Of War	District First	09	3000/-	27000/-
5	Volley ball	Distict Third	12	1000/-	12000/-
6	Foot ball	Distict First	12	3000/-	36000/-
7	Yoga	Disrict Third	01	2000/-	2000/-
8	Judo	District First	01	5000/-	5000/-
9	Taek Wondo	District First	02	5000/-	10000/-
10	Taek Wondo	District Second	01	3000/-	3000/-
11	Kho Kho	Disrict Second	12	2000/-	24000/-
12	Athletics	Zone First	09	700/-	6300/-
13	Athletics	Distict First	07	5000/-	35000/-
14	Athletics	Distict Third	02	2000/-	4000/-

15	Athletics	Gujarat State Second	05	7000/-	35000/-
				Total	2,50,000/-

Achievements in Sports



International Championship in "Jeet kune Do" of Tafisha Games held on 6 to 12 Octomber-2016 For the Year 2016-17 at Jakarta,Indonesia.in which (1)Miss Ripal J.Chaudhari & (2) Miss Khyati B.Taral Won the Gold Medal and (3) Miss Apexa B.Patel & Miss Arju D. Chaudhari Won the Silver Medal



Ahmedabad Zone Inter College Athletics Competition held on 27 to 29 December-2016 For the Year 2016-17 in which (1) Miss Bhavana D. Chaudhari - Long Jump,Tripal Jump Won the Gold Medal and 100mt Run,High Jump Won the Silver Medal (2) Miss Kajal D. Bavaliya - 800mt,1500mt and 3000mt Run Won the Silver Medal Medal